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Subject Code: 3330705 Date: 04-12-2013
Subject Name: Microprocessor and Assembly Language Programming
Time: 02:30 pm - 05:00 pm Total Marks: 70

Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is considered to be Authentic.
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Explain architecture of 8085 with block diagram.
List the addressing modes of 8085 and explain any two in detail.

Explain structure of Flag register of 8086.
Write a program in assembly language to add two 8-bit numbers stored in
memory and store the answer again in memory.

OR
Write a program in assembly language to add two 8-bit numbers stored in
memory and store the carry if generated.

Draw a machine cycle timing diagram for the instruction INR M (where M is
a memory location)
Write an assembly language program to compare two numbers stored in the
memory location 1050h and 1051h. Clear the register B if both are equal,
otherwise store FFh in the register B

OR
Draw a machine cycle timing diagram for the instruction MVI B, 43h.
Write an assembly language program to sum integers from 0 to 9. Store the
result in accumulator.

Explain interrupts in 8085 and describe classification of interrupts.

List the types of instructions of 8085. Explain Logical instructions.
OR

Explain SIM and RIM with reference of 8085.

List the types of instructions of 8085. Explain Arithmetic instructions.

Explain minimum mode of 8086.
Write an assembly language program for adding 90h and 80h and show status
of flag register of 8085 at the end of it.

OR
Explain memory segmentation in 8086.
Write an assembly language program for subtraction of 5678h from 1234h
and show status of flag register of 8085 at the end of it.
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1oLl
ocAls staulHell Hee el 80854) wUE25UR UMM

808501l AWIRDL Msell wEl ototicl A Udlotl 518 wal A (Al
AHestal.

80860l AL AB2R0] WSUR AUAIA
AU RR sl A 8-6{le ol WSloll URA $cll Aol Aell sclletal
QML RAR sal M2 Al GsHl Yo A,

Ul
AU RR sl A 8-0{l2 ol visloll AR $cll Wal %\ carry A
dl Aol AU 1R sall HR Al eniHl YouH cul.

INR M UslRell Sorgsalat 2 Hallt WeFsc etegfHlol stauoud €RL
(el M A AUl Adalet yud B.)
Al etdi AU ABAst 1050h Wl 1051h UR @A A olrdRal
ARuladal Hi2 YIoUH Avl. %l olal UHlet 8lal L B2 B ol Clear $3
Wod Ul A2 B Uil FFhRR 53

Ul
MVI B, 43h Sogs2let HI2 Hllol AeFsct atefHloL stauanH €L
0 dl ¢ Yulloll Yuls Avaul ol ARl scll Hi2 NApolell e
YLOUH AUl Aol MRl accumulatorHl R1R $3.

808501l interrupts AHSA A Aef cd((s20L 53,

8085¢{l instructionse{l ALEL $2A. Logical instructions UMt
Yl

8085¢1l A eelHl SIM and RIM AHLAl..

8085¢{l instructionsell ALEL $2A. Arithmetic instructions AHostcll.

80860] (M(AHM s UHMA
90h ol 80h oll AR sRcll HI2 AAIHCAL elniHl YoUH vl wal
Aotl Bide{l 808501l $AL AR Al WRERAA U

Ul
808611 AHI| Ao 2let wHsLAl.
5678h ol 1234h Hi &l cteotsl sRal 12 Al et Yol dvll
WA Aol iAde(l 808501l sAL ABe el URRAQ LU
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